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Type 1: Locating References

Type 2: Vocabulary

Type 3: Scanning for Details

Type 4: Main Idea or Topic

Type 5: Making Inferences

Type 6: Purpose Questions

Type 7: Transition Questions

Type 8: Summary or Simplification
Type 9: Insert text

Type 10: Tone of the author

(The word “X” refersto )
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Z What does the word “these” in line 3 refer to?

1) years 2) means
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@ For many years people have been trying to create a simple universal language that would serve all over the
world as acommon means of communication. In the last three hundred years, more than seven hundreds of lan-
guages have been suggested. The most successful and the most popular of these is a language called Esperanto.

3) languages 4) people
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(The word “x” in the 2nd paragraph is closest in meaning to -
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@ Sarah’s house is made of stone, a few hundred years old, typical of the kind of place for sale cheaply here.
Like actually all the village houses it’s attached to the neighbouring ones. Inside, it is dark and cool. When
Sarah bought the house, it had cold running water, some missing floors, and the fireplace didn’t work.

| Z It can be understood from the passage that when Sarah bought her house it -
1) was good enough to live in 2) required some repairs
3) was in the same condition as the other houses 4) was older than the other houses in the village
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@ If happiness underlies and animates our purpose, then aiming for it seems a reliable way of moving /
toward that purpose. In other words, if you let what makes you happy be your guide, there is a good chance |

that you are on your path to fulfilling your purpose. (A il 51 wb ool

atin

Z Which of the following describes the function of the sentence below, which is the last sentence of |
the passage? ‘
In other words, if you let what makes you happy by your guide, there is a good chance that you are ‘
on your path to fulfilling your purpose.

1) It introduces a new topic. 2) It restates an earlier statement. \
3) It provides a specific example. 4) It provides a summary of the whole passage.
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@ When we are learning a foreign language, we tend to think that it is important to understand everything
that we hear. But when you are listening to someone talking in your own language, you probably don’t
listen at 100% and nor do you probably need/wish to. (A )
T Why does the author refer to the experience of talking in the mother tongue (paragraph 1)?

1) To prove that learning a new language is not easy.

2) To show that our knowledge of our native language is perfect.

3) To support the main point mentioned in an earlier statement in the same paragraph.

4) To state that the mental effort you make to understand when others are talking to you is more than the mental effort

you make when you yourself are talking.
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@ Beyond living longer and healthier lives, we may want happiness for other reasons. Many people
believe that each of us exists for a specific purpose. Although there are many beliefs about that purpose,

./ almost all people agree that that life is purposeful. However, perhaps as we put our lives in line with our

purpose, we become happier. Said another way, perhaps the closer we get to true happiness, the closer we

are to realizing the purpose for our time on Earth. I do not know the nature of that purpose, but I believe
that happiness is vital to it.

T What does the paragraph before this passage most probably discuss?
1) Some reasons why people look for happiness 2) Reasons why people are living longer
3) What the purpose of life is 4) Examples of happy people
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@ This has led to a behavior that Lasén has called “clustering”. At a busy time of day on the streets of

London, you may find small crowds of cell phone users grouped together, each one talking into a cell
phone. Even when it is raining — as it often is in London — people still prefer not to hold their conversations

where others could hear. They talk under their umbrellas or in a doorway.

T What does the paragraph following the passage most probably discuss?

o

1) Why Londoners prefer to keep their private lives private

2) How phone companies can increase their profits in London

3) Rules about how and when to use cell phones in three European cities
4) The habits of cell phone users in another studied city
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@ Before this time, people did not think artists were special. Artists were normal people. They were not

trained. Their paintings did not look real. However, artists in the 16" century had more training. They

understood lines, light, and shadow. They knew how to blend science with art. Their paintings looked very
real. Some thought paintings were perfect.

T Which of the following best expresses the essential information in the highlighted sentence?
1) Artists used science to make their art better. 2) Art was used to make science better.
3) Artists were not interested in science. 4) Scientists were interested in art.
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@ Before the Renaissance, artists mostly painted people from The Bible. (1) When the Renaissance started,
artists began to paint different people. (2) Also, they painted many objects. They put a lot of detail in their

paintings. Michelangelo and Raphael were two well-known artists of the time. (3) They inspired people
with their art. (4)

Z Where does the following sentence fit most?

Michelangelo’s paintings are some of the most well-known paintings in the world.
1)1 2)2 3)3 4)4
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( @9 Everybody knows that teenagers are sleepy in school. Too many ~ ~
students do not get the recommended number of hours of sleep they need - CoellGE odlpld

in order to make it through the day. Although a number of factors influence PO WO oS
perform: yslsplosl 8,512

)
atn |

this, it would help to change the time teenagers are expected to begin | ™ |
school each morning. A later start time would give students enough sleep = iritable: sl |
to be better prepared to learn. cranky: e | =)
Many studies have been conducted on how much sleep students need. = obstacle: gls *4%
Most of this research has shown that teenagers need at least 7 to 9 hours of | impulsive: l \ QO
sleep each night. A teenager is going through a lot of biological changes. = deprivation: 8g:e5 ‘\\//
During sleep, important brain activity and functions are performed to = CONCentrate: s,
manage these changes. Only 15% of teenagers are reported to get at least 8 internal: 90
hours of sleep during the school week. ‘ external: gy (2,
When teenagers do not get enough sleep, bad things can result. Students can variable: e
become easily irritable and cranky. These problems can lead to behavioural | attentive: sl
problems and become an obstacle to academic success. Students who lack
enough sleep tend to make more impulsive decisions and take more risks. Students suffering from
sleep deprivation have reduced attention, and it may be harder for them to concentrate on complex
tasks and assignments.
Teenagers can lose sleep for a number of reasons. Some of these reasons are internal. Teenagers

also face external forces that keep them up at night. Homework demands, sports practices and
games, and jobs may keep teenagers out of the house and active late into the evening. Teenagers’
social schedule may also keep them up late.
Although we cannot control many of the other variables, one factor we should consider is starting

# school later once students become teenagers. A well-rested teenager would be better prepared and
T more attentive to learning.
Z 1. Which statement BEST states the main idea of this essay?

1) School days should be shorter.

2) Teenagers are learning how to manage their time well.

3) Teenagers should go to school later in the day.

4) Fewer courses should be offered in middle and high schools.

)
N

. What do the phrase going through MOST NEARLY mean as they are used in paragraph 2?
1) experiencing 2) encouraging 3) considering 4) beginning
% 3. Which sentence from the student’s essay supports the idea that most teenagers are not
currently getting the correct amount of sleep?
1) Most of this research has shown that teenagers need at least 7 to 9 hours of sleep each night.
2) Only 15% of teenagers are reported to get at least 8 hours of sleep during the school week.
3) Students who lack enough sleep tend to make more impulsive decisions and take more risks.
4) Teenagers can lose sleep for a number of reasons.

)
»

. Read this sentence from paragraph 4.
Homework demands, sports practices and games, and jobs may keep teenagers out of the house and
active late into the evening.
What is the MOST EFFECTIVE way to combine the ideas in the highlighted sentence? ,/09
1) Homework assignments, jobs, and practices for games G
2) The demands of homework, sports, and a job
3) Completing homework, competing in sports, working at a job, or practice with a team
4) Various after-school demands like homework, sports games, sports practices, and jobs
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@) When a family members dies, you may find that other family *
. grieving:

relationships change. Each family member has his or her own way of grieving,
and his or her needs may be different from yours. Also, there are many
different relationships that are lost, all being grieved in different ways. Your
relationship with your mother, for example, is different than your sister’s,
father’s or grandmother’s relationship with her. Families typically adapt to
the absence of a family member by “reassigning” the roles of the person who
died to the remaining members. In a sense, the family must redefine itself. For
example, a parent whose spouse dies may find himself or herself trying to be
both mother and father to their child. The remaining parent may take on some
of the roles of the parent who died, and other things may be let go, or assigned
to a non-parent. Or, if a mother dies, family members may expect the oldest
sibling to step into a more mothering role with younger siblings.

The process of redefining the family takes time, and involves trial and
error. When someone in the family dies, family roles may change or
disappear altogether. As you are redefining yourself without your loved
one, don’t take on roles or responsibilities that you don’t want. If your
younger sister often turned to your mother for advice on day-to-day living

2 S —0

typically: Yyoro
adapt: sls 33 ¢y, S5l
reassigning: sose las!

spouse: o
assign: o5 135
sibling: Pl b el
trial and error: W 4 051
determine: OO (s
oftentimes:
el iyl LI
co-worker: e
therapist: Sley
adjust:
O35 ke oo S il
eliminate: R EAC

CONSEQUENCE: ass wely
assertion: Lo

N

and now turns to you, determine whether this is something you want — or are able — to take on.

difficult situations, or professional therapist.

% 1. What is the writer’s main purpose in the passage?

1) To urge readers to keep family relationships as close as possible in difficult situations
2) To compare family members in terms of how they react to the death of a loved one
3) To describe painful emotions family members feel after the death of someone close
4) To explain family relationships in terms of adjusting to the death of a loved one

()]

EXCEPT
1) trying out various means

2) identifying cause of failure

3) eliminating all of the old family roles

4) willingness to assume new responsibilities

1) It describes one negative consequence of accepting roles or responsibilities that you dislike.

2) It provides an example of an assertion made earlier in the passage.
3) It weakens an argument which was made earlier in the passage.
4) It examines the similarities between mothers and older sisters.

(2]

1) Demands which arise as a result of family member

What does the paragraph following the passage most probably discuss?

2) A new way of looking at your relationship with friends, co-workers or therapists
3) Contributions of friends, co-workers or therapists to one who has lost a family member
4) Advantages and disadvantages of seeking professional help after the death of someone close

ooy — o'
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Pay attention to your feelings, and as new demands arise, ask yourself what is best for you.
# Oftentimes, it is helpful to talk over your decisions with a friend, co-workers, or, in particularly

T

. According to the passage, the process of redefining the family requires all of the following

. Which of the following best describes the function of the underlined sentence in paragraph 2?
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(/ @9 Many people rely on cars to get around. This can be a problem for

)
n
7

two reasons. The first is that cars cause pollution. With so many cars on * ot °lff““) " *)

the road, the quality of the air that we breathe is reduced. The Earth is our run out: ol o1 @M
. . . . conserve: ‘

habitat and we must protect it. The second is that cars run on fuel, which o N \

. S o ORASS oS bai> |
comes from oil. There is a hm%ted amount of oil in the world. When Our  eticient s | cJ
oil runs out, we (.:ann.ot replace. it. Therefore, we should try to conserve oil. ST T ,‘%

(1) One solution is to design cars that consume less fuel. The most S5 5 8,8 S \ O. /
efficient cars today are called hybrids. They run on gas and electricity. = species: G5 ‘\\//
They save energy by turning off the engine when the car is not moving. (2) = extinct: oo
They don’t waste gas when they are stuck in traffic. The electricity source = campaign: Ghas
is a battery. (3) It recharges itself when the driver uses the brake. That  switch: O3S ese
way, the driver never has to plug the car in to charge it. Hybrids also have tax: bl
smaller engines. (4) This means they use less gas. They can go twenty-five ~financial incentives:

to forty percent further on the same amount of gas as a normal car. \ o ool
Pollution results in global warming, which cause climate change. This \afff)rdable; = S
can endanger life on Earth. One example of this is the many species of
animals that are becoming extinct. As such, there is a global campaign aimed at limiting the amount
of pollution we produce. Switching to hybrid cars is a major goal. Sadly, not everyone cares about
| clean air. They do, however, care about money. As gas prices rise, hybrid cars look more attractive.
' Some governments fund programs to make hybrids even more attractive. They offer tax cuts to
T people who buy them. One day, hybrid cars should replace normal cars as the standard vehicle

around the world.

2 1. According to the passage, which of the following is NOT mentioned as a way that hybrids save fuel?
1) They don’t waste gas when they’re not moving.
2) They run on bio-fuel.
3) They have small engines.
4) They generate their own electricity.
T 2. Where in the passage can the sentence “Most car engines today are far bigger than they need
to be.” best fit?
n1 2)2 3)3 4)4
T 3. Which of the following best expresses the essential information in the highlighted sentence?
1) They use less electricity than regular cars.
2) They are faster than regular cars.
3) They last longer than regular cars.
4) They can travel further than regular cars on the same amount of gas.
Z 4. Why does the author mention financial incentives for buying a hybrid?
1) To demonstrate that hybrids are a wise option for anyone
2) To suggest that hybrids should be made more affordable ,
3) To imply that poor people are not concerned about the environment '/\%9
4) To show that only environmentalists are willing to buy hybrids
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(/ @9 Mental and physical health professionals may consider referring

%}\

)
n
7

. - . . i .
clients and patients to a music therapist for a number of reasons. It seems - eStablish: = gossbel = 1275
a particularly good choice for the social worker who is coordinating a = 'Mtéraction: — Jusls e o= (Q

compose: [

client’s case. Music therapists use music to establish a relationship with the
patient and to improve the patient’s health, using highly structured musical
interactions. Patients and therapists may sing, play instruments, dance,

O3S Sl by
comprehensive: sl

o
compose, or simply listen to music discern: S \ %
The course of training for music therapists is comprehensive. In addition | ]i‘,?tr::jlémion: - “\O'/
to formal musical and therapy training, music therapists are taught to | (S s —
discern what kinds of interventions will be most beneficial for each = achieve: sl cews o
individual patient. Because each patient is different and has different goals, = respond: Sologesly

the music therapist must be able to understand the patient’s situation and = candidate:  als a3
choose the music and activities that will do the most toward helping the k\circumstance; Lalys
patient achieve his or her goals. The referring social worker can help this ’
process by clearly communicating each client’s history.

Although patients may develop their musical skills, that is not the main goal of music therapy. Any
T client who needs particular work on communication or on academic, emotional, and social skills,

and who is not responding to traditional therapy, is an excellent candidate for music therapy.

Z 1. Which of the following best organizes the main topics addressed in this passage?
1)therole of musictherapy insocial work, locatingamusictherapist, referring patients to musictherapists
2) using music in therapy, a typical music-therapy intervention, when to prescribe music therapy for
the patients
3) music therapy and social work, training for music therapists, skills addressed by music therapy
4) how to choose a music therapist, when to refer to a music therapist, who benefits the most from
music therapy

T 2. According to information presented in the passage, music therapy can be prescribed for social

work clients who _
1) need to develop musical skills 2) were disabled as children
3) need to resolve family issues 4) need to improve social skills

)
w

. Which of the following inferences can be drawn from the passage?
1) Music therapy can succeed where traditional therapies have failed.
2) Music therapy is a relatively new field.
3) Music therapy is particularly beneficial for young children.
4) Music therapy is only appropriate in a limited number of circumstances.

T 4. Which of the following would be the most appropriate title for this passage?
1) How to Use Music to Fight Depression
2) What Social Workers Need to Know about Music Therapy
3) Training for a Career in Music Therapy
4) The Social Worker as Music Therapist ./\g?
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@9 Over the decades, tourism has experienced continued growth and ~

deepening diversification to become one of the fastest growing economic
sectors in the world. Modern tourism is closely linked to development and
encompasses a growing number of new destinations. These dynamics have
turned tourism into a key driver for socio-economic progress.

Today, the business volume of tourism equals or even surpasses that
of oil exports, food products or automobiles. Tourism has become one of
the major players in international commerce, and represents at the same
time one of the main income sources for many developing countries.
This growth goes hand in hand with an increasing diversification and
competition among destinations.

The global spread of tourism in industrialized and developed states has
produced economic and employment benefits in many related sectors — from
construction to agriculture or telecommunications.

The contribution of tourism to economic well-being depends on the

2 S —

£ . -

- diversification:

&9s

sector: S
eNcompass: 18,5 5,0
dynamics: <bs
driver: Syze
equal: b Oossslee

‘ major: ol codee
' commerce: S

construction: ;L. 5 csle
telecommunication:

Sl e

revenue: ey
 assist: 50,5 SKeS
sustainable: il ol

‘ point out: 0,5 oyl

quality and the revenues of the tourism offer. The United Nations World b

Tourist Organization (WNWTO) assists destinations in their sustainable positioning in ever more
complex national and international markets. As the UN agency dedicated to tourism, UNWTO
points out that developing countries stand to benefit from sustainable tourism and acts to help make

this a reality.

% 1. What is the best title for the passage?
1) UNWTO contribution to tourism
2) Tourism in Developing countries: Pro and Cons
3) Tourism: An Economic and Social Phenomenon
4) Emergence of Tourism-based Economics

()]

. The word “that” in paragraph 2 refersto .
1) volume
3) tourism

2) business
4) export

)

if they
1) decline to ignore the other economic sectors
2) increase their cooperation with UN-related agencies

3) take measures to make sure that their tourism industry has sustainable growth
4) recognize that competition among tourist destinations is getting tougher and tougher

1) What destination types appeal more to today’s tourists?

. There is sufficient information in passage to answer which of the following question?

N\

. It can be inferred from the passage that developing countries would benefit most from tourism

2) Why is the growth of tourism of great importance to developing countries than to developed ones?
3) What are some of the policies to follow to ensure sustainability in the development of tourism?
4) What are variables affecting the contribution of tourism to economic well-being of the countries

concerned?
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@) A natural disaster is occurring in South America. Amazon rainforests /
which are said to provide the earth with 25 percent of its oxygen have -

lda) :Q)Gj‘)g A

been on fire for the last 20 days. Every minute an area as big as a football
field is being devastated by fire. These wildfire incidents are 80 percent
more compared with last year and threaten the lives of animals, plants,
and people. In fact, natural habitats of various animals are lost and infinite
plant species are destroyed. Fire also destroys vegetation and makes soil
poor for plant growth.

While no serious action has been taken so far in order to control the
inferno, some blame ranchers and farmers who usually set fire on forests
in order to clear land for farming. Others point their fingers at loggers who
cut down trees and use them for wood industries.

But the main suspect can be the Brazilian president. As he was
campaigning, he promised farmers to ease environmental protection
regulations in order to let them clear land and improve Brazilian economy
and their financial status by farming. Now, facing public criticism at
national and international level, he denies such accusations and points his
finger at others. No matter who is to blame, the lush forests are burning
to ashes while the world is simply looking on. It is quite unfortunate that

2 S —r

N

- —

disaster: anxls -
devastate: RO
threaten: RSBV
infinite: el

vegetation: LS g
inferno:
blame:

S|

Glopalio (53,8
rancher: Slsals
suspect: Ol
campaign:

0% 03ske & Eed
regulation:
financial status:

oladl Cunsg
point finger at: oo S veo
ash: S
extinguish:  -s,5 jgels
stupid: PHE

oyl

instead of joining forces to extinguish fires, everyone seems to be involved in a stupid blaming game.

Z 1. The author seems to express -

rainforests.
1) support 2) sympathy 3) happiness 4) criticism
T 2. The word “who” in paragraph two, line two, refers to
1) actions taken so far 2) controlling the inferno
3) ranchers and farmers 4) those who blame ranchers and farmers
Z 3. Which statement can be used as a supporting sentence in the second paragraph?
1) Although natural factors such as hot weather and sunlight can also sometimes cause wildfires.
2) World leaders attending G7 Summit in France blamed him for his inaction and urged him to respond
to the situation immediately.
3) Amazon rainforests are referred to as the lungs of planet earth.
4) These is a serious threat to biodiversity in the rain forests.
Z 4. Which of the following statements can be inferred from the passage?
1) Brazilian president is a rancher and land owner who wants to clear land for himself.
2) Strict regulations have prevented farmers, ranchers, and others from setting the rain forests ablaze.
3) Animals and plants are strong enough to survive the wildfires and we must only focus on saving
human beings.
4) Amazon rain forest should be taken advantage of in order to supply raw materials for different
industries and factories.
(et
%

U

regarding the world reaction to the wildfires in Amazon
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@ There are few homes in the United States today that do not have either a radio or television 1 .
Both of them have become a/an .~ 2 part of our daily life, giving us the news of the day,and .3
us in many different fields of interest.
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1.1) set 2) program 3) series 4) action
2. 1) honest 2) important 3) dangerous 4) flexible
3. 1) forbidding 2) frightening 3) educating 4) controlling
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m( @ Despite the wealth of information campaigns telling people about - —
'  despite: pessle
| I global warming and its causes, most people have yet to realize how severe wealth. e
(\) { the problem is. Coming climate changes could alter as much as one third CAMPAIGN: o3 era
8 \ of plant and animal habitats 1 the end of the 22nd century. These severe. ' WS
U ‘ changes could in turn cause widespread 2 among plant and animal coming: o
species around the globe. Coastal and island habitats are perhaps in the | gjter. 5ol e
} greatest danger since they = 3 the combined threats of warming habitat: oS
\\/;‘ oceans and rising sea levels. As habitats change, many animals will come ‘ widespread: 085S
under intense pressure to find more 4 homes for themselves. Mass | species: &5
| migrations of at least some animals are certainly to be expected, __ 5 | coastal: sl
T the fact remains that many animals will simply not be able to move fast | Fhreat: Sl
enough. \lntf:nse: KRGS
1.1)at 2) by 3) until 4) since
2.1) events 2) destinations 3) conditions 4) extinctions
3.1) create 2) face 3) found 4) prevent
4. 1) possible 2) serious 3) suitable 4) regular
5.1) but 2) so 3) or 4) and

— P o g
2 asd. Fgmww ¥ :)0719 slass
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" @ There are roughly 140 countries which belong to the Third World —
( and__1__ developing, less developed and poor countries. Although there - 0Ugnly: Lo’
are great differences between them, they do have a number of features eI ‘;”5
, in__ 2 . For instance, much of the Third World is in poverty. 3 Vu:/:;:ble N ’ﬁ
exceptions to this rule are Saudi Arabia, Kuwait and Libya. However, o

because the economies of these three countries depend largely on one

export, oil, they are still vulnerable in the world market. Most of the developing countries still have
T very little industry. Farming is often __ 4 . Even worse, many of the countries only produce

enough foodto 5 their own populations alive.

1. 1) which known as 2) that known as

3) which are known as 4) that know
2. 1) general 2) common 3) particular 4) brief
3.1) Few 2) Little 3) Afew 4) Alittle

2) which is the only way a county may make money
3) an only way which the country makes money
4) the country makes money in which is the only way

; 4. 1) the only way in which the country can make money
2

U
O 5. 1) feel 2) make 3) escape 4) keep
@%% ggr
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m\ ( @ The International Space Station is a unique place — a meeting place ™ -

| | for science, technology and human innovation that shows new technologies - U 2 e
() ° and makes research advances not 1 on Earth. It is a microgravity ;ZT/Z\;?:T”: :’f_"s
\ laboratory in which an international crew of six people live and work | microgrz;lvity: o
U ‘ ~ 2 traveling at a speed of five miles 3 second, orbiting Earth e
every 90 minutes. crew: i
The space station has been continuously used since November 2000. | beneat izl wogms

N /,“ ‘\ In that time, more than 200 people from 15 countries have visited. Crew
members spend about 35 hours each week ~ 4 research in many fields to advance scientific
‘T 5 in Earth, space, physical, and biological sciences for the benefit of people living on our

home planet.
1. 1) possible 2) domestic 3) dense 4) convertible
2. 1) although 2) since 3) before 4) while
3.1)in 2) at 3) per 4) with
4. 1) conducted 2) conducting 3) to conduct 4) be conducting
5. 1) knowledge 2) definition 3) invention 4) communication
C(DZQ 4 ¥ mm;;g Z)fm:w Cidy h‘l":Q;?,‘b:)@
P (
( GO The roots of the Internet reach back to the 1960s and 1970s, when = —
military and academic researchers worked on ways to connect computers. m”"[taryl: ool
. . . rotocol: 5
But it was only in 1983 that TCP/IP 1 , creating a shared protocol z . S
: LYY
for networking that 2 spread - that’s the “Internet” the authors call. o
‘ gain: O0y9 G 4

Over the next decade, tools were developed 3 the World Wide Web. sttt
The idea that new technology is spreading faster than ever before has been
- accepted. The Citi report notes that it took 75 years for telephones to 4 50 million users, radio
| took 38 years and TV 13 years, while Angry Birds reached that goal in an only 35 days. One of
# 5 the authors note, appeared in Forbes - which recently pointed out that WhatsApp gained
T more followers in its first six years than Christianity did in its first 19 centuries.

3

1. 1) introduced 2) which was introduced

3) was introduced 4) had introduced
2. 1) normally 2) mainly 3) softly 4) rapidly
3.1) when created 2) created 3) to create 4) be created
4. 1) forgive 2) achieve 3) deny 4) attack

5. 1) the most colorful comparisons between two items
2) the more colorful comparisons between two items
3) two items are among the most colorful comparisons
4) between the two items the best colorful comparisons
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T have known him since T
came towork here.
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Since they left school,
they have been playing
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